Rang Nr.
1. 2
2. 6
3. 20
4. 19
5. 15
6.

7.

8.

9. 17
10. 14
11. 16
12.

13.

14.

15. 3
16. 11
17. 10
18. 12
19. 18

Paarturnier - Luzern - 13.01.2025

Ergebnis (50 % =208.0 MP)

Paar
Bilar, Pedro— Erni, Josy
Wilti, Vreni — Kleinschmidt, Michael
Rubeli, Gabriela — Schoahs, Grazyna
Wehrli-Wyss, Cristine — Kiillstrom, Curt
Briner, Maya — Filali, Renata
Nadrai, Marie-Antoinette — Hedinger, Teresa
Wiist, Albert — Konrad, Irma
Egli, Willi — Bernhardtz, Claes-Goran
Gisler, Meggi — Fischer, Verena
Beylemans, Rita — Roth, Rita
Vital, Theres — Schilt, Carla
Graidel, Heidy — Schonenberger, Nada
Bretscher, Hedi — Egli-Kessler, Ursula
Hess, Rita — Furrer, Ursula
Steger, Johanna — Wohlgemuth, Gisela
Wiist, Annamarie — Zingg, Erika
Zoller, Marion — van Exel, Wendela
Walter, Marlise — Biitler, Doris
Kuhn, Monica — Tschopp, Denise

Paar8 —4.0 MP  Board von falscher Seite
Paar 12 —4.0 MP  Board von falscher Seite

Turnierleitung: Gabriela
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173.0
170.0

%
61.06
58.61
58.08
57.84
57.02
54.57
54.42
52.88
51.83
48.46
47.64
46.88
46.63
44.38
42.31
42.31
42.07
41.59
40.87
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